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Imagine the Future

;1 BAY 4 I MR 7755

M ERE T/ BT

PR B IR AR R (T21T) 0.25/* % ISO 294-4

R AER(EH) 0.7/ % % ISO 294-4

MUt BE T/BRT

RI{HEE 10100 / 5500 MPa ISO 527-1/-2

SESIR 185/ 80 MPa ISO 527-1/-2

B 2 fe K 35/5 % 1SO 527-1/-2

LHRE 9400 / 5500 MPa ISO 178

TR 270/ 140 MPa 1SO 178

Hi{RiEE (200°C) 3120 MPa ISO 527-1/-2

BRRLERO P HBE+23°0) 80/90 kd/m? ISO 179/1eU

B2 RO M EHRE(-30°C) 60 / 60 kd/mz I1SO 179/1eU

B2 R ER O R E(+23°0) 11/19 kd/m?2 ISO 179/1eA

B2 RO EEE(-30°0) 1.583E+22 / 1.583E+22 kJ/m? ISO 179/1eA

BEERBROAEHRER3°C) 12/20 kJ/m? ISO 180/1A

e F/21EH

15RYE E(10°C/min) 221/%* °C ISO 11357-1/-3

HRLRE(1.80 MPa) 200/ * °C 1SO 75-1/-2

HLHZIBE(0.45 MPa) 215/ * °C ISO 75-1/-2

SRR BT 0.2/* E-4/°C ISO 11359-1/-2

SRR B(EER) 11/%* E-4/°C ISO 11359-1/-2

BRIRME (1.5mmEE ) HB/* class IEC 60695-11-10
WXEE 1.5/%* mm IEC 60695-11-10

[EFE JghBy By RRIGR HB / * class IEC 60695-11-10
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Durethan® BKV30XTS3

PEBE BARUZERY ==Kivi MR 7%
MiXAIRENEE 3/* mm IEC 60695-11-10

[EFE AhBd B RR R HB/* class IEC 60695-11-10
MREE 0.75/* mm IEC 60695-11-10

K90 42 BRIRIE SR GWFI 725/ °C IEC 60695-2-12
GWFI (EE(1)) 0.8/ mm IEC 60695-2-12

KL RIS IE B GWFI 725/ °C IEC 60695-2-12
GWFI(EE(2)) 1.5/ mm IEC 60695-2-12

k9R 425 | KB EEGWIT 750/ °C IEC 60695-2-13
GWIT (EEE(1)) 0.8/ mm IEC 60695-2-13

KR 25| LR E GWIT 750/ °C IEC 60695-2-13
GWIT (BEE(2)) 1.5/ mm IEC 60695-2-13

Bt RE F /BT

FETT AT ER E #2(100H2) 3.65/9.78 - IEC 62631-2-1

HE¥T T B H (1 MH2) 4.66 / 4.08 - IEC 62631-2-1

N ERFEREF(100Hz) 0.03/0.12 E-4 IEC 62631-2-1

N EIREEEF(1MH2) 0.03/0.09 E-4 IEC 62631-2-1

AR EBPEE 3.88E12/9.6E12 Oohm*m IEC 62631-3-1

REHBE=E */>1E15 Ohm IEC 62631-3-2

NEIRE 32.9/27.6 kV/mm IEC 60243-1

TR R EREREH 500/ - \Y IEC 60112

HEMEE F /2B

BE 1360/ - kg/ms I1SO 1183

0 1A

EETERITRIEE 80 °C

EETRITREE 2-6 h

BRKNEBE 0.03-0.12 % acc. to Karl Fischer

BB E(Tmin - Tmax) 270-290 °C

RERE 80-100 °C
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